ORIGINAL

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 October 2008 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #_31337	API No. 15 - 007-23385-00-00
Name: Wildcat Oil & Gas, LLC	Spot Description:
Address 1: 10286 SW 170 Ave.	N2 _SW _NW _NW _Sec. 27 _Twp. 34 _S. R. 11 _ ☐ East ☑ West
Address 2:	840 Feet from 🗘 North / 🗌 South Line of Section
City: Nashville State: KS Zip: 67112 + 8336	Feet from East / West Line of Section
Contact Person: Gary Adelhardt	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 243-4401	□NE ☑NW □SE □SW
CONTRACTOR: License #_33902	County: Barber
Name: Hardt Drilling, LLC	Lease Name: Liebl Well #: 1
Wellsite Geologist: Timothy G. Pierce	Field Name: Wildcat
Purchaser: Pacer (oil); Oneok (gas)	Producing Formation: Mississippi
	Elevation: Ground: 1317 Kelly Bushing: 1327
Designate Type of Completion: New Well Re-Entry Workover	Total Depth: 5093 Plug Back Total Depth:
	Amount of Surface Pipe Set and Cemented at: 222 Feet
Oil SWD SIOW SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set: Feet
Dry Other	If Alternate II completion, cement circulated from:
(Core, WSW, Expl., Cathodic, etc.)	ev emt
If Workover/Re-entry: Old Well Info as follows:	feet depth to: w/ Alt I- Dig - 4/21/09
Operator:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Well Name:	
Original Comp. Date: Original Total Depth:	Chloride content: 75,000 ppm Fluid volume: 1,200 bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: Hauled off
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Docket No.:	Operator Name: Wildcat Oil & Gas, LLC
Dual Completion	Lease Name: Dickson SWD #2 License No.: 31337
Other (SWD or Enhr.?) Docket No.:	Quarter SW Sec. 8 Twp.31 S. R. 8 East West
10/21/08 10/31/08 11/01/08	County: Harper Docket No.: E-05673.1
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Bocket No
Kansas 67202, within 120 days of the spud date, recompletion, workover or confiside two of this form will be held confidential for a period of 12 months if retaility in excess of 12 months). One copy of all wireline logs and geologist was BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	
All requirements of the statutes, rules and regulations promulgated to regulate are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements herein
Signature: Adulhundt	KCC Office Use ONLY
Title: Office Manager Date: 03/31/09	Letter of Confidentiality Received
Subscribed and sworn to before me this Lot day of Aller	,
2009.	Wireline Log Received
Notary Public Laffac Bunder (on)	Geologist Report Received KANSAS CORPORATION COMMISS
) / m 2 /2/1	ROBIN PINKERTON
Date Commission Expires.	Notary Public - State of Kansas APR 0 3 2009 Expires 9 25 - 2010
му Аррі	RICEIVED

Side Two

Operator Name: Wild	cat Oil & Gas,	LLC	Lease	Name: L	iebl		Well #: _1_	
Sec. 27 Twp. 34			County	,: <u>Barb</u>	er			
time tool open and clos	sed, flowing and shi s if gas to surface to	nd base of formations pe ut-in pressures, whether est, along with final chart report.	shut-in pres	sure read	hed static leve	l, hydrostatic	pressures, bottom	hole temperature, fluid
Drill Stem Tests Taken (Attach Additional Si	heets)	☐ Yes 📝 No		✓Lo	g Formation	on (Top), De	pth and Datum	☐ Sample
Samples Sent to Geolo		✓ Yes □ No		Name Heeb	e ner Sh.		Top 3664	Datum -2337
Cores Taken		☐ Yes 🕡 No		latan	L.S.		4077	-2750
Electric Log Run (Submit Copy)	`	V Yes □ No		Stark	Sh.		4351	-3024
				Cher	kee Sh.		4574	-3247
List All E. Logs Run:				Missi	ssippi		4626	-3299
		ty Log; Dual Indu	iction	Viola			4984	-3657
Log; Sonic Ce	ment Bond L	.og		Simp	son		5072	-3745
		CASING	RECORD	✓ Ne	v Used			
	S' 11-1-	Report all strings set-	-T					
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs. /		Setting Depth	Type o Ceme		Type and Percent Additives
Surface	14-3/4"	10-3/4"	28#		222'	Class A	200	3% cc + 2% gel
Production	7-7/8"	5-1/2"	15.5#		4842'	60/40/4	40	4% sms
						Class H	150	10% salt+5# kol-seal
		ADDITIONAL	L CEMENTIN	NG / SQUI	EZE RECORD			14 1/2 gal C10 P.
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Type of Cement	#Sacks	Used		Туре	and Percent Additives	500 GOT ASF
Shots Per Foot		ON RECORD - Bridge Plug Footage of Each Interval Per					ement Squeeze Recor of Material Used)	d Depth
2 4	1644' - 4676'				1500 gal of See attac		, with MCA conv	version 4644'-4676'
							KAN	ISAS CORPORATION COMMISSI
TUBING RECORD:	Size: 2-7/8"	Set At: 4580'	Packer At:		Liner Run:	_ Yes _ ✓	☑ No	APR 0.3 2009
Date of First, Resumed Pro 03/03/09	oduction, SWD or Enh	nr. Producing Meth		Flowing	✓ Pumpin	ıg \square G	as Lift Othe	er (Explain)
Estimated Production Per 24 Hours	Oil E 35	Bbls. Gas 50	Mcf	Water		ols.	Gas-Oil Ratio	Gravity 24
DISPOSITION Vented Sold (If vented, Submit	Used on Lease		METHOD OF (COMPLET	_	nmingled	PRODUCTIO 4644'-4676'	ON INTERVAL:

Wildcat Oil & Gas, Inc. Liebl #1

Barber County, KS. Sec. 27-34S-11W

20 Tank Slick Water Frac Mississippi Chert Formation

Pump Schedule

	ate (bpm)	70		Est. Pressure (psi):	2,100				
Stage	Volume	Prop Conc	Fluid	Proppant Type	Lbs Per	Slurry	Cum.	Stage	Lbs per
1 ,	(gals)	(ppg)	Туре	& Mesh	Stage	BBLS	BBLS	Time	Minute
. 1	75,000		Slickwater	Pad	-	1,785.7	1,785.7	25.51	
2	20,000	0.10	Slickwater	30/70 Brady	2,000	478.4	2,264.1	6.83	293
3	22,000	0.20	Slickwater	30/70 Brady	4,400	528.6	2,792.7	7.55	583
4	25,000	0.30	Slickwater	30/70 Brady	7,500		3,396.0	8.62	870
5	32,000	0.40	Slickwater	30/70 Brady	12,800		4,171.8	11.08	1155
6	32,000	0.50	Slickwater	30/70 Brady	16,000		4,951.1	11.13	1437
7	32,000	0.60	Slickwater	30/70 Brady	19,200		5,733.9	11.18	1717
8	32,000	0.70	Slickwater	30/70 Brady	22,400		6,520.1	11.23	1994
9	32,000	0.80	Slickwater	30/70 Brady	25,600	789.7	7,309.8	11.28	2269
10	28,000	0.90	Slickwater	30/70 Brady	25,200	694.0	8,003.8	9.91	2542
11	24,000	1.00	Slickwater	16/30 Brady	24,000	597.5	8,601.3	8.54	2812
12	5,000	1.50	Slickwater	16/30 Resin Coated	7,500	127.2	8,728.5	1.82	4128
13	2,000	2.00	Slickwater	16/30 Resin Coated	4,000	52.0	8,780.5	0.74	5389
14		•			,,000	02.0	8,780.5	0.74	#DIV/0!
Flush	4,700	:	Slickwater			111.9	8,892.4	1.60	#510/0!
	1,500		Slickwater	Over Flush		35.7	0,032.4	0.51	
	367,200	Gals. Pumped		0.00, 1.100,11	170,600	Lbs.Total Pr	onnent Dum		
ĺ	32,800	Gals.Tank Bott			8,928.1				ļ
	400,000				•				
	•	Gals. Total Red			127.54	Bbls. Total S Minutes Total			

Percent Pad

20.78%

KANSAS CORPORATION COMMISSION

APR 0 3 2009

RECEIVED



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Wildcat Oil & Gas 10286 SW 170th Ave. Nashville, KS 67112

INVOICE

Invoice Number: 116902

Invoice Date: Nov 1, 2008

Page: 1

Customer ID	Well Name# or Customer P.O.	Paymen	t Terms
Wild	Liebl #1	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1	Medicine Lodge	Nov 1, 2008	12/1/08

Quantity	. Item	15.025.55	Description		Unit Price	Amount
24.00	MAT	Class A	Common		15.45	370.80
16.00	MAT	Pozmix			8.00	128.00
1.00	MAT	Gel			20.80	20.80
14.00	MAT	Sodium	Metasilicate		2.45	34.30
150.00	MAT	Class H	Premium		16.75	2,512.50
16.00	MAT	Salt			12.00	192.00
750.00	MAT	Kol Seal			0.89	667.50
500.00	MAT	ASF			1.27	635.00
14.50	MAT	Cla Pro		****	31.25	453.13
222.00	SER	Handling	J		2.40	532.80
15.00	SER	Mileage	222 sx @.10 per sk per mi		22.20	333.00
1.00	SER	Producti	on Casing		2,295.00	2,295.00
15.00	SER	Mileage	Pump Truck	i	7.00	105.00
1.00	SER	Head Re	ental		113.00	113.00
1.00	EQP	Top Rub	ber Plug		74.00	74.00
1.00	EQP	AFU Inse	ert .		293.00	293.00
6.00	EQP	Centraliz	ers		57.00	342.00
8.00	EQP	Reciproc	cating Scratchers		74.00	592.00
1.00	EQP	Guide So	oe .		192.00	192.00
				KANSAS CORPORATION	COMMISSION	
				APR 0 3 2	2009	
ALL PRICES AF	RE NET, PAYABL	E	Subtotal		المائح	9,885.83

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 988 38

ONLY IF PAID ON OR BEFORE

Dec 1; 2008

700 10 0 3 400.	9
Subtotal	9,885.83
Sales Tax	409.94
Total Invoice Amount	10,295.77
Payment/Credit Applied	
TOTAL	10,295.77

ALLIED CEMENTING CO., LLC. 32513

SERVICE POINT: MIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 Medicine Lodge RANGE ON LOCATION JOB START DG 30 AM CALLED OUT 1100 AM 0130 AM DATE 11-01-08 03304M COUNTY WELL# LOCATION 2818 PROTHESPICKE Trail, 3 E, . 8 N, E/into Barber LEASE LIEB OLD OR (NEW) (Circle one) OWNER WILLSON OIL & GGS CONTRACTOR Harat TYPE OF JOB Production HOLE SIZE 77/8 HOLE SIZE 1'18

CASING SIZE **CBINBY 45 13.57 CEMENT AMOUNT ORDERED 405x 60/40/4 +.4% SMS. 1505x Class H+10% sat++5th kd-see1, 14, Y2 Gal. Clapes DEPTH **TUBING SIZE** 0 500 GAL ASF DRILL PIPE DEPTH TOOL DEPTH PRES. MAX 130005 MINIMUM 100 PSi COMMON 24 A @15.45 370.80 @ 8.00 128.00 SHOE JOINT **39.57'** POZMIX /6 MEAS. LINE @ 20.80 20.80 CEMENT LEFT IN CSG. 34.57 GEL **CHLORIDE** PERFS. BUS 290KCL WATER ASC DISPLACEMENT Sodium Metasilicate 14 2.45 34.30 **EOUIPMENT** @ <u>16.75 2512.50</u> 150 H @ 12.00 192.00 CEMENTER GREG G. PUMP TRUCK Kol Seal 750 = @ ·89 467.50 # 480-48** HELPERHERTH M. ASF 500 gs. @ 1.27_ _635.07 **BULK TRUCK** la Pro 1442 ds. @ 31.25 DRIVER Scott P. #381-314 **BULK TRUCK** DRIVER @ 2.40 532.80 HANDLING _ *333.0*0 MILEAGE 15 x 222 x 10 TOTAL 5879.83 REMARKS: PERSON ROTTOM BEENK GIRLIGTION, Rump Pre-fixth 977800, 20 290 hc3, 3 Trest, 500gs ASF, 3 Frest Plus Ret, 15-5x + Additions, Pump Cenery, 255x + Additions, 1005x + Additions, Sop Romps, week from **SERVICE** stines ledouse Aug. Start Disp, See lity Slow Recorp, Bump Aug. Plot Held , Disp with 115 Bbls 280 KCL war. DEPTH OF JOB 5093 2295.00 PUMP TRUCK CHARGE EXTRA FOOTAGE @ 7.00 105,00 MILEAGE MANIFOLD_ Hegd Rental @11300 113.00 *Thank Youx CHARGE TO: Wildort Oil & Gos TOTAL <u>25/3.00</u> STREET CITY____ _____ STATE ____ ZIP 5/2 PLUG & FLOAT EQUIPMENT Top Rubber Plug AFU Insert @ 74.00 @293.00 293.00 6 @57.00 342.00 entralizers To Allied Cementing Co., LLC. 8 @ 74.00 verchers Rec. o You are hereby requested to rent cementing equipment vide shoe @ 192.00 192.00 and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was TOTAL 1493.00 done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) TERMS AND CONDITIONS" listed on the reverse side. **TOTAL CHARGES** PRINTED NAMEY TIM YERCE F PAID IN 30 DAYS DISCOUNT _

ANY APPLICABLE TAX
WILL BE CHARGED
UPON INVOICING

SIGNATURE & Tim Pund



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887

(785) 483-5566

Bill To:

Wildcat Oil & Gas 10286 SW 170th Ave. Nashville, KS 67112

INVOICE

Invoice Number: 116669

Invoice Date: Oct 22, 2008

Page:

CustomerID	Well Name/# or Customer P.O.	Paymen	f Terms
Wild	Liebl #1	Net 30	A CALL STREET, SALES AND A STREET, SALES AND ASSESSMENT OF THE PARTY O
Job Location KS1	Camp Location Medicine Lodge	Service Date	Due Date
Edition 2 - April 1997 - Brown 1997	Wedicine Louge	Oct 22, 2008	11/21/08

A STATE OF THE SECOND SECOND SECOND	Grand and the second		00122, 2000	11/21/08
Quantity	Item	Description	Unit/Price	Amount
200.00	MAT	Class A Common	15.4	
	MAT	Gel	20.80	9,000.00
211.00		Chloride	58.20	
15.00	i	Handling	2.40	
	SER	Mileage 211 sx @.10 per sk per mi	21.10	
15.00		Surface	1,018.00	
70.00	OLIN	Mileage Pump Truck	7.00	
			·	
			KANCAC CODDO-	
			KANSAS CORPORATIO	N COMMISSION
			APD	000
		·	APR 0 3	2009
			RECEN	150
ILL PRICES ARE	NET, PAYABLE	Subtotal	- 30 (

30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Nov 21, 2008

Subtotal	
Sales Tax	5,526.50
Total Invoice Amount	225.58
	5,752.08
Payment/Credit Applied	
TOTAL	5,752.08

ALLIED CEMENTING CO., LLC. 34050

SERVICE POINT: EMIT TO P.O. BOX 31 **RUSSELL, KANSAS 67665** MedicineLobels ON LOCATION JOB STARTA JOB FINISH RANGE ال ال LOCATION 281 & Rattlespale Rd, 38 to Barber WELL# OLD OR NEW (Circle one) Red Dust Rd 1/2 N/Einto OWNER Wilde CONTRACTOR Hond #/ TYPE OF JOB Surface 230 **CEMENT** HOLE SIZE 143/4 T.D. AMOUNT ORDERED 2005/ 14"+3% cc+ CASING SIZE DEPTH 226 TUBING SIZE DEPTH DRILL PIPE DEPTH TOOL PRES. MAX 250 COMMON 200 A @ 15.45 3090.00 **MINIMUM** MEAS. LINE POZMIX CEMENT LEFT IN CSG. 15 @ 20.80 GEL CHLORIDE @ <u>58.20</u> _ 407,40 DISPLACEMENT ASC_ **EQUIPMENT** CEMENTER D. Felio PUMP TRUCK #*35*ユ HELPER M. Becken BULK TRUCK # 381 DRIVER M. Teminicsh BULK TRUCK DRIVER 211 HANDLING MILEAGE 15 x 211 TOTAL 4403,50 SERVICE DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE @ MILEAGE MANIFOLD _ CHARGE TO: Wildcat TOTAL 1123.00 STREET __STATE _____ZIP_ PLUG & FLOAT EQUIPMENT To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was TOTAL done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) TERMS AND CONDITIONS" listed on the reverse side.

KANSAS LUKTURAIIUN WIRITIDSIÜN

PRINTED NAME Scott (Adelhardt

SIGNATURE Scatt adellar

TOTAL CHARGES

DISCOUNT

F PAID IN 30 DAYS

ANY APPLICABLE TAX WILL BE CHARGED **UPON INVOICING**